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Test - 16| Answer Key  |Tamil

Answer Key - Tamil16

  

       

   6
  



  



  

 

  

 

  





      
   
  2
-   

   



     

   



   2
    



   



 

  



    



 

    



     



   

  

   



   2
 

    

  



      
 
  3
-    CaSO

4
.H

2
O



- 

- CaSO
4
.H

2
O, K 

1 

CaSO
4
.2H

2
O 



- 

   



2CaSO
4
 . 2H

2
O(s) 2 CaSO

4
 .  H

2
O + 3H

2
O

-  K      



CaSO
4 


- (dead burnt plaster)


 1
-     

    

    



 2
- 


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-      





- 



- 

    



    
 
 3
-  



  



-  



-   

  



    3
- 



-    



-   

  



-  



-    



-    

 



- 

()

   

(  )

5)    

 4
-   





- p
x
, p

y
 and p

z 
 

(degenerate) 

   



-    



- 

 

   



   (electron
pairing) 

- p  d 

  f     



-    



 

-  



- 1s2,
2s2, 2p2.  2

     





 p
x 

 

p
y
 

         
   

  6

 



­COO­Na+  ­SO
3

­Na+

 

 



 

   

 

 
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Test - 16| Answer Key  |Tamil

  

 



   

-  



-    



-    

     



-  



-      

    



    

  



     

 

   3
- 





    



-   

   



- 



-      



-      



- 



 3
- 





- 

(­COONa)   

 

   



- 



-     

    



-      

    


- 

   



-    





- 



-   



 
      

   
- 



 6
- 

    

  



-   

  




-     



  



-    



- 

    



    


-    



-    



-  “
”

-    

 “  ” 



    

  


  pH    pH

  
pH  2
-    

 pH
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- pHp

  

“”

- pH     

pH   





- 



-   



- 



  pH  4
   pH 


-   pH



-  pH 



-       pH


-     pH 



-    



- pH 7.4

   pH 
-    



- 



- 

   



-  pH


pH    

- pH 

-     



-   pH   





- 

-    

    

  



 pH
-   pH  



- 



   



 pH
-  pH  

   



- 



 pH  



- pH 



-     

pH

    



  
a) 

b) 

c)   

a)  2
-   

 

    



2Mg + O
2
  

2MgO

CaH
2  

Ca + H
2 


Fe2+ 
 Fe3+ + e­ 

b)  2
-   

   





2Na + H
2  2NaH 

CuO + H
2  

Cu + H
2
O

Fe3+ + e­    

Fe2+ 

c)    2
-    



-  



-  



2PbO + C 
 2Pb + CO

2

Zn + CuSO
4
  Cu + ZnSO

4

        
 
  6
- 

  


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-    

  



-   

BHT
BHA

 



-    





-    

   

  



- 



-   





   



- 



    

  



     
a)     

   

b)  

a)     

    3
-     



-  

    



- 

-   





-   

 





-    

   



b)   3
- 

- 



-     

   



- 



2AgBr(s)  2Ag(s) + Br
2
(g)

- 



      



  a)   



b)   Answer

a)   

 3



-   



-  R ­ X,  



  (C
n
H

2n+1
)

- X    (X=F, CI, Br  I) 



 

 

-   



- 

- 

- 





-  

   

- 

- 



- (CCl
4
)



 

b)   

  3

   

-    





- 

   



- 
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- 

 



-     

     



-   



   

-  



-    

  

   

  



- 



- 

  



-     

  

 

- 



    

- 

 

- TNG 



  

- 



-    



- 

  



    

    



     
 
    
 6
-     

   

 (FDA) 

  



-   

 

- 



-  

-  (QACs)
-  

  
  
   
C
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COONa 

- 
 
 
 
 

     
   2
-   


    


-   
 


-     
  
  


   4
-     


-   


- 

 
  



-    
 

 


- PVC­   



-  


-     
   


     


   
#3 PVC #6 PS and #7 ABS/PC).

  DDT   
DDT (P, P 1 
 3
-   

DDT 
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-   DDT


-    

 



-    

 

DDT

 3
-     


DDT 

- 


-    


 
    


      

 6
- 


  


- 


-     (DAP) 

  
(NPK)

- 
    


-  


-  

  
  


-       


- 

    
  
 
 3
-   



-   



 

 

    1.5
-  



    



    1.5
-   

 



- 



D 

T  



-     



-    

  



-  

   



-    



   

   





  

    
  
  
 4
- 

   



-    

 
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- 

       



- (i)  
6
C12, 

6
C13  

(ii)  
17

Cl35, 
17

Cl37

- 

   

  



- 



- 

  



- 





- 

   





 4
- 



- 



- 





- 

- 

   



 4
- 



- 



- 
  
   
   


-    



    
   
  
  6
- 




-   
  


- 
 ‘Li’ ‘Ne’ 


- 
 ‘Na’  ‘Ar’


- 
“K”“Kr”
   
   


-  
Rb 
Xe     
   


-  
‘Cs’Rn
    
   


- 
 
   
(IUPAC)

  6
 

 

 

 

 

 

 

 

 

 
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-    

  

 



- 



- 

 



- 

   

   



-     

 1S2)
   



- 

   



- 



 





     
   

 4
-   



   

 



- 

 



-      





-    



 





- (Fe
2
O

3
.XH

2
O)



-    

    



   4
     



- 



-    

 O
2
,N

2
,SO

2
, H

2
S  





- O
2


   



     

 

-  



- 





   4
 

 

   

 

  FeCr


 

-     

 

 

-      



-     



 





 

-     



 

-   

    



- 

 

-    

   

   



- Mg 



(sacrificial anode) 



-  Mg
Zn 
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   

- HNO
3
 

  



  



 a)    

b)    



c)    



a)   

  4
-    

    



- 

   



-    



-     

 

- 



Ca
3
P

2
 + 6H

2
O  2PH

3
  + 3Ca(OH)

2

CaC
2
 + 2H

2
O  C

2
H

2   + Ca(OH)
2

b)    

 4
  

-     

F­F 



- OF
2


  O
2


   

  



- HF


HF 



- HF





- ...........H ­ F.........H ­ F .............H ­ F.
-    

  

 NaF
NaHF

2
.

- HF     

AgF 

AgX 

- 

    

 



- HF

   



- d 

   



- É
3

–, Br
3

–, Cl
3

–  

F
3

–  

c)    
 4
  

-    (CaF
2
) 

   

HF 

- CaF
2
  + H

2
 SO

4 
 CaSO

4
 + 2HF..

- HF

  



- HF 



-     



-     



Na
2
 SiO

3
 + 6HF   Na

2
 SiF

6
 + 3H

2
O

SiO
2
 + 4HF   SiF

4
 + 2H

2
O

-     HF­ 



-     

 

 HF    





    



  a)    

 

b)    

  

a)    

 

 2
-  





-  

     


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- 





    1
-  

  

 





-   





-   



   



-    



  1
-    



-     



  

- 



- 

  2
-  

 



- 

   



-    







-    oC  


-     





- 



-  ‘’

- 



 

-    



- 

 ‘’

b)    
  
  2
-    

  



  





- 





- 







 1
- 

- 



- Fe
2
O

3  
/ Al

2
O

3 






 1
-   

   





    2
- 



   

-    



 



-   

CO
2 
  



- CO
2 
  



-    

H
2
O

2 






   

-   



   

  H
2
O

2
 



   

- 

    
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 

   



- CH
2
 = CH

2
 + O Pd(II)/Cu(II)


CH

3
CHO



   



   

  





- 



- 

 



      
   
  

  3
-  

   



- 





-   



 

- 

H+ Cl   

Na+OH­



-     

(NaCl)

-   



- 



   3
  

HCl  NaOH NaCl
H

2
SO

4
NaOH Na

2
SO

4

HNO
3

NaOH NaNO
3

CH
3
COOH NaOH CH

3
COONa

   

 6

-  

  



-   



- 



 

- 





-    



- 

 

   



 

-    



- 



-    

  





-  

   



-     



    





-    



-    

 



-  





- 

  

   

  


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-     



   



-      

 



- 

  

   



- 



- 



-    

 (CaO),  (CaCO
3
)



    





-  



- 

   



- 

   

   



-      

  

  

    



      

   

  4
-     

   

  



- 



-     





-     



-     



- 

 
- 

 

     



  2
- KBr K 

 Br   



- NH
3 
N

-H     



-   


   
  6
-    



 

H
2
OH O  

- H ­ +1

O=­2 

H
2
O2 × (+1) + 1 × (–2) = 0(+2) + (–2) = 0

H­

 
H

2
SO

4
  S  

- H

- O

- S

- H
2
SO

4 
2 × (+1) + x + 4 × (–2) = 0(+2) +

x + (–8) = 0x = +6
S = +6

 

K
2
Cr

2
O

7
- Cr  

- K 

- O

- Cr X 
- K

2
Cr

2
O

7 
2 × (+1) + 2 × x + 7 × (–2) =

0(+2) + 2x + (–14) = 02x = +12
Cr = + 6

   

FeSO
4
  Fe  

- O

- S

- FeX 

- FeSO
4 
x + 1 × (+6) + 4 × (–2) = 0x + (+6)

+ (–8) = 0x = +2
Fe 

      
   

   3
-     

   
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Test - 16 | Answer Key  |Tamil

   



- 



-   





  

-    



-     



-     

   



 2

- 





- 

-     

   



-   sp2 



 C­C     

 C­C     



-     

   

    

   



   P 

 

-     

   



-     

    



-  

-      

   



- 

 

 2

-  

-    sp3

   

  

C­C


-  





-    

   

  



-    

  

 



 2
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Test - 16| Answer Key  |Tamil

-    



- 

C
32

, C
50

, C
60

, C
70

,
C

76
 etc,.

- 



- C
60  

   



- 

 



-    



    



- 

C
20  


C
540


   2

-    







-  



- 

- 

   



 1

- 



-  sp2 



- 



     

  4
-     





- 



-    



-     



-     



-  



-     

   



- 

   



-    

 



   3
-        

 

atm),k  





N
2
 + 3H

2 2NH
3

   

-    





 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 52003 17

Test - 16 | Answer Key  |Tamil

    

   


- 

 







-     

  



    



  3
-     

  



-   

  

  



-     

  

   




-      



   2
- 

-    



-    

  



-  

    



-    



-  TNT,GTN   

   



-  



-     



-     

   



 

   

a)   

b)    



a)   

 3
-    

  



- 

    



- 



- 

- 



-  



-       



- 



-    

    



-  

    



 3
-    



-     





-    






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-    



- 

-    “”



-     



-   

    



-  

   

   





b)    



  3

-      

   

    





-  

   



-  





C­C Si­Si N­N P­P O­O S­S

85 54 39 50 35 54
-    



   



-     

 

    



-   

    



-     

   



- 

   



- 

 



  3
-  

 



-    

  

 

   



-    

   





- 

    



-    

   

  



       

   

  4

-     

   

   

 



-     





- 

 

- 


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     4
-      

   
   


-    




- 
   

 

- 
- 
- 
    4
- 

  
  



 
- pH

  
   
    pH


- pH 



 
-  

 



- 
NPK 
    


-     
  



-     

   


   
    
 

    
 
  
 2
-    

   



- 

-    



- 

 2
- 



- 



-  



- 

    DDT
DHC



   2
-    



-     



- 



-     

  



-     



- 

  2
-      



- DDT BHC 



-     



   2
- 





-    

  

   



-    



- 



- 



 2
-    


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-     





-     

  



- 



   

   



  

      

 

 1.5
-   





- (Al
2
O

3
. 2 SiO

2
. 2 H

2
O)



- (Al
2
O

3
.2.H

2
O) 



  





   1.5
- 





   

(Al
2
O

3
.2H

2
O) (CaCO

3
) (Na

3
AlF

6
) (PbS)

(Cu
2
O) (MgCO

3
) (CaF

2
) (FeS

2
)

 (Fe
2
O

3
)  (FeCO

3
) (NaCl) (ZnS)





-    



    

 3

-    

   

  

 

(Fe
2
O

3
) 

- 

  

 

 

-     

  



- 

   



    

 3

-   

   

   

   

(SnO
2
) 



-  

 

 

  

 

   



   

 3

- 

   

    



-    

   

ZnS
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-    

 

  



 2
- 





   

  



- 

   

(Zns).
  1
- 

 

-  

 





     

Al
2
O

3
H

2
O 

     
    
   
  4
-     





- 

   

    

   



  

- 

- 

- 

- 

- 

       3

-     

  



-    



    

 

 

- 

   



-    

    



   4

- 



 

-     



   

-    

 

  

 

(Cu, Zn) 







(Cu, Sn)  



   

 

  

(Al, Mg, Mn, Cu) 

(Al, Mg) 



 

 

 

(Fe,C, Ni,Cr) 



(Fe,C,Ni) 


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 4

- 

   



-     

   





-      

    





- 

   

 



- 



-  

   





- 



      

    

   

  

   



 2

- Zn Cu





-     





- 



- 



-  



 1

- 

 ZnS

 ZnCO
3

 ZnO

- 

   



   1

-    



 

-      



 

-     

    



2ZnS + 3O
2 

2ZnO + 2SO
2

 

-    

   

   

 ZnO 



- ZnO + C 1673K  Zn + CO

 3

-    



-  

    



    





 1

 

- 

- 

- 

 2



-     

    





2Zn + O
2 773K

2ZnO



- 

    



Zn + H
2
O ()  ZnO + H

2

   3

-    


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- 



Zn + 2HCl  ZnCl
2
+ H

2

Zn + H
2
SO

4
  ZnSO

4
+ H

2

H
2
SO

4 


-  H
2
SO

4 
   ZnSO

4



Zn + 2H
2
SO

4 
  ZnSO

4
+ SO

2
  + 2H

2
O

HNO
3 


- 

  



4Zn + 10 HNO
3
 (dil)  4Zn(NO

3
)

2   
+  N

2
O

+ 5H
2
O

4 Zn + 10 HNO
3
 (very dilute) 4 Zn (NO

3
)

2
+

NH
4
NO

3
+ 3H

2
O 

 

-   NaOH  



Zn + 2NaOH + 2H
2
O  Na

2
ZnO

2
+ H

2
O



 

-    



-     



-   



- 



  (ZnCO
3
)  2

-     



-    



- 

  

 a)    



b)    

c)   

 

a)    

 5


-     

   



- 



   



- CH
3
COOH CH

3
COONa 

 CH
3
COO­

 
   



- 

  

  



CH
3
COOH(aq) H+(aq)+CH

3
COO (aq)

- 

Na+ CH
3
COO­



-   CH
3
COO­ 

    



-  

   

   

   

   



-    

  CH
3
COO­ H+

   

 CH
3
COOH  

CH
3
COOH



- 

   CH
3
COONa)



CH
3
COOH)

- 

b)   

  5

- 

pH

 

- 

   



-      

  

    



-     

  pH

     



-  (H
2
CO

3
)

HCO
3 




- 
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Test - 16| Answer Key  |Tamil

  

- 







  

-      

 

­ NH
4
OH  NH

4
Cl   



c)   

 5

- pH

    K
a 






- HA 



HA H+ + A­

a
a

[HA]K[H ][A ]
K or[H ] ..................(1)

[HA] [A ]

 



 

-     

     A­

  (Na+ A­)


-    

   



- [A­]    



-  

a[H ] K ................(2)  




-  [] 

   [] 



-  

- ­log[H+]= ­ log k
a
 ­ log




     ................ (3)

- ­log[H+]= pH ­ log k
a
= pk

a 
 (3)

- pH= pk
a
 ­ log 




= pk

a
 + log 





- pH= pk
a
 + log





-   



-   



        
  
 3
- 

‘’



-    



-    



- H+

  H
3
O+  



-     

   

 

  

(H+)

-  (HCl)
  (H

2
SO

4
) 

(HNO
3
)  

   (H+)  



-   (HCl)
  (H+) 

 (Cl­)
-  (H

2
SO

4
)  

(2H+) (SO
4

2­)
- 

   



-     



- 



-  (CH
4
) (NH

3
)



-   (H+)


 3
-    



-    



-     



-   

    

 
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- 

 



- 

   



-   

(NaOH)(KOH)

-  (NaOH) 

 (Na+) (OH­)

-  

(KOH)  

(K+) (OH­)
-     



-   

 





     



-     





-     



-  (Na
2
CO

3
) 

 (NaHCO
3
) 

  (NaOH) 

   

(KOH)   



 3
-   





- 





 

 

-  



NaOH + HCl  NaCl +H
2
O

 

-    





- 



NaOH +H
2
SO

4
 NaHSO

4
 + H

2
O

   2
- 

   

   



Pb(OH)
2
 +HCl  Pb(OH)Cl +H

2
O

 

- 





- 

   

 KAl(SO
4
)

2
.12H

2
O

  2
- 



-    

 

-    

   



- 

   



- 

    

    



- H
2
SO

4


- H
2
SO

4
    

 





- 





-    



- 

(DNA)   

(RNA)  

-   



-    

   



- 



   



-    



  


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- 


-     


 
-    


- 


- 

  


-    


-   

    


- 
  


-    


-    
  


  2
  
-     

 
     (Na

2
CO

3
)

- 
- 


    (NaHCO

3
)

- 



-    


- 
- 




   
(CaOCl

2
)

- 
     


  Zn(s) + Cu2+ (aq) Zn2 (aq) + Cu(s). 

     
   
 
  2
-     

  



- 

   



-  



       2
-    



-     



-     



  

-    

  



-     



 

-   



  



Zn
(s)

 + CuSO
4
 
(aq)
  ZnSO

4
 
(aq)

 + Cu 
(s)

- 



- 

 Zn2+Cu2+

   



- 

Zn
(s)  Zn2+

(aq)
 + 2e­ 

Cu2+
 (aq)

 + 2e­  Cu
 (s)

  
- 





  2
- 

     



  

-    





   1.5
-  



  (k) 



-  

-    

 

  U  
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Test - 16 | Answer Key  |Tamil

U

KCl,Na
2
SO

4




- 

  

 

  



-    



   



-  (k)  





- 





 1.5

- 



-    



-    Zn2+ 



- Zn2+ 

   





-   

 (­ ve) 

Zn(s)  Zn2+ (aq) + 2e­   



  2

-    

    



-   Cu2+ 



   



-   

(+ve)
- Cu2+ (aq) + 2e­   Cu(s) 

  2
-    

   



-   

  Zn2+ 



 SO
4

2 

 Zn2+ 





- Cu2+



  Cu2+

SO
4

2­ 

-   

Cl
KCl

  

   K+

 



  1
-  





-    

 



- 

 

-    



-     



-  Zn2+

Cu2+





- 





 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 5200328

Test - 16| Answer Key  |Tamil

  

   



-   



   1
- 

  



Zn (s)| Zn2+ (aq) || Cu2+ (aq) | Cu (s)
- 

()    

()

-   

 

   



- 





- 



2 Cr(s) + 3Cu 2+ (aq)   2Cr3+(aq) + 3Cu(s)
    



-  2Cr (s)  2Cr3+

(aq) + 6e­

- 3Cu2+ (aq) + 6e­  3Cu(s)
 Cr (s)| Cr3+ (aq) || Cu2+ (aq)|

Cu(s)
  a)    



b)   

        



c)    

 

a)    

 5
 

 









  

   



    

   



I.    

  

-  



-     

  



-     



-    

 

-     

   

  



     



-    



- 

    



- 

   



CH
3
­CH

2
­CH

3
CH

3
­CH=CH

2

 

 

   

-     

 



-   

   



- 



   



-    

  


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-    

    







II.    

 

- 
   


- 

   


-    
  


   


-   

   



-    

  



-   

 (C=C, C C)  

–OH, –CHO, –COOH 



- 

C
2
H

6
.

- OH
    



- –OH     

R 

R ­ OH

-     





- 

   



     
   

 –OH R­OH CH
4
CH

2
OH

 R­CHO CH
3
CHO

 R–CO­R CH
3
COCH

3

 R­COOH CH
3
COOH

b)   

   

 5
   

-   



-      

   



-   



     

-    LPG 



-    



- 



   

- -



  

- 

-    



  

- 

- 

   

- 

- 
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   

-  



c)    

  5
I.  CH

3
CH

2
OH

-    



- 





-   



-   



-    





- 

-  

 



-  



    



 

-    





    

 

II.   CH
3
COOH

- 







-     

 



- 

-     

 

- 

- 

- -




    
  
 5
-   





-    

  

   

‘Sakcharon’   



-     

  

    



-   



 C
n
(H

2
O)

n


 

   



-   



-    

    

    



-    

  



6CO
2
 + 6H

2
O  C

6
H

12
O

6
 + 6O

2

 5
-   



 

 

   

-      



  

-     

  

   



  C­
n 

(H
2
O)

n
   



- 


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Test - 16 | Answer Key  |Tamil

  

    



-    

 

   

  

   


- 
    
   
      


- 





-  



- 



-      



-  mg/dl 

    

  







- 



-     



-     



- 



 

- 



- 

  





- 

  



   

   



   

   

   

   

   

   

   

   

- 



-  C
n
(H

2
O)

n­1
.    



-    

 ‘’

  



-    

   



  



- 



-     



-     



-  

   

   

   



- 



-  

   



-   
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

-   

   



-    





-  



- 

- 

   



    



     

- 

  





-   



 



 



- 

   

  

   



- 





-    

 

   



 

-    

  





-       





- 



     

   



  5
- 

   

   

D­ 

- 



    



-  

   

   





-   

    



  



 

-  



  



- 

   





-    

  





- 

  



 

-   

  





-    

   



- 



    



-    



- 



  

  






